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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER - | « EXAMINATION - WINTER 2012

Subject code: 310029 Date: 11/01/2013
Subject Name: Engineering Drawing
Time: 10.30 am - 01.00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

Q.1 A pictorial view of an object is shown in fig. 1. Draw to full size its following  views
using “First angle projection method”. (1) Front view — looking from direction ‘X’. (2) Top
view (3) left hand side view. Give dimensions using “Aligned system”. 14

Q.2 (a) Fig. 2 shows three views of an object. Draw its isometric view. 07
(b) Draw the following views for fig. 3
(1) Rear view (2) Bottom view
Give dimensions using “Unidirectional system”. 07
OR
(b) With the help of figure show different types of lines such as out line, dotted line, centre
line, ladder line, section line, dimension line, extension line etc. 07

Q.3 (a) A ball is thrown up in the air reaches the height of 70 meter and then falls on the ground
at a distance of 120 meter from the point of throw. Draw the path of this ball assuming

it as a parabola by tangent method. Take suitable scale. 07
(b) A line AB 80 mm long has its end ‘A’ 15 mm above H.P. and 20 mm in front of V.P.
while end ‘B’ is 50 mm above H.P. and 60 mm in front of V.P. Draw its projections and

find true inclination of line with H.P. and V.P. 07
OR
Q.3(a) Draw cycloid for a circle of 60 mm diameter taking starting point ‘P’ at the top of a
vertical diameter. 07

(b) A line AB 90 mm long is inclined at 30° to H.P. The top view of line AB makes an angle
of 45%to xy. The end ‘A’ is in H.P. and 20 mm in front of V.P. Draw projections of line
and find out true inclination of line with V.P. 07

Q.4 (a) A regular hexagonal plate of 30 mm side has a corner in the H.P. Its surface is inclined
at 45° to the H.P. and the top view of diagonal through the corner which is in the H.P. is

at 30° with V.P. Draw its projections. 07
(b) Construct a regular heptagon of 30 mm side by universal method. 07
OR

Q.4 (a) A semi-circular plate of 60 mm diameter has its straight edge (diameter) in V.P. and
inclined at 45° to H.P. The surface of the plate makes 30° to V.P. Draw its projections.
07
(b) Draw two diagonals in a square of 60 mm side. Also draw four equal circles in it so
that each circle touches one side of the square and two other circles.
07
Q.5 (a) Draw free hand neat proportional sketches of following
(1) Acme Thread (2) Wing Nut
(3) Tee headed bolt (4) Pan headed rivet 08



(b) Prepare a list of modern methods of storing drawings. Describe any one in brief. 06

OR
Q.5 (a) The yearly budget of Win Engineering Company is as under
(1) Raw material purchase Rs. 2, 40,000
(2) Wages of worker & staff Rs. 1, 80,000
(3) Electricity & water charges Rs. 90,000
(4) Government Taxes Rs. 60,000
(5) Miscellaneous expenses Rs. 30,000
Construct a pie chart 08

(b) Answers the following questions.

(1) Name the curve when generating circle is rotating inside the directing
circle.

(2) When will you use isometric scale?

(3) Draw symbol of 31 Angle projection.

(4) Write dimensions of trimmed ‘A2’ size drawing paper.

(5) Which drawing instructions will you use to draw angles in multiple of 15°
(Other than protector)?

(6) If line is inclined at 30° to H.P. and 60° to V.P. (6+®=90). Then what is the

distance between end projectors? 06
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